
Clarinet in A

Copyright © Ioan Dobrinescu

p pp

 Moderato semmplice ma espressivo 

q = 80 q = 76 poco rit. 

p p

q = 80 q = 825

mp p

q = 80 poco rit. q = 80 poco rit. 
A9

pp p p

q = 80 q = 84poco cresc.13

f

q = 80 poco rit. 18

mp p

q = 80 q = 76 poco rit. B22

mp

q = 8026

p pp p

Meno mosso q = 74
molto espressivopoco rit. C28

3
4

Piotr Tchaikovsky op 37 a nr 1

arr. Ioan Dobrinescu

January 

By the Hearth

http://www.free-scores.com


legierissimo

ppp pp pp pp ppp mp

31

p

poco rit. q = 76D37

p

40

mf mp p

q = 74 q = 70 poco rit. 
43

p ppp pp ppp pp

A tempo q = 74E47

p mp pp p

q = 78
poco stringendo

F53

ppp pp

poco rit. 57

p pp p

q = 80 q = 76 q = 80poco rit. G62

p p mp

q = 82 q = 80 poco rit. 68

3

3

3 3 3 3 3

3 3 3 3 3 3

3 3 3 3 3 3 3 3

3 3 3 3
3

3

3 3 3 3 3
3

3 3 3 3 3 3 3 3

3 3 3

Clarinet in A2

http://www.free-scores.com


p pp

q = 80 q = 80poco rit. H72
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